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 July 2024

M/s. Akshay Industries ANNEXURE - I AIB

Sr. No.

Trailer

Nomenclature

Overall

Length (mm)

Wheel-

base (mm)

Suspension Type &

GCW (kg)

Unladen weight

of trailer (kg)

Axle Spacing

(m)

1 AIB 28FT SFB IA 8,635 5,445

MMM - 53,000

AMM - 54,000

AAA - 55,000

6,100

R1 to R3 > 3m

2 AIB 28FT SFB IA SW 8,635 5,445 7,300

3 AIB 30FT SFB IA 9,244 5,495 6,430

4 AIB 30FT SFB IA SW 9,244 5,495 7,630

5 AIB 32FT SFB IA 9,854 5,955 6,600

6 AIB 32FT SFB IA SW 9,854 5,955 8,020

7 AIB 36FT SFB IA 11,072 6,479 7,220

8 AIB 36FT SFB IA SW 11,072 6,479 8,600

9 AIB 40FT SFB IA 12,300 7,765 7,830

10 AIB 40FT SFB IA SW 12,300 7,765 9,270

*A-Air,M-Mechanical,1 tonne extra load is permitted for each axle fitted with pneumatic suspension as per S.O. 3467(E) dt.16th July, 2018,

with S.O. 3881(E) dt. 06th August, 2018.

R1, R2 & R3 - Trailer Rear Axles

** END OF DOCUMENT **
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